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Section : Part A General Intelligence and Reasoning

Q.1 Five friends, P, Q, R, S and T are sitting in a row facing south. Q is sitting in the centre
position. P is sitting at the west end. T and R are sitting on one side of Q. Two persons
are sitting between P and R. Who is sitting between Q and P?

Ans X 1.Q
X 2T
3.5
X 4R

Question ID : 65497828355
Status : Answered
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Bhubaneswar : Odisha :: Aizawl : ?
Ans o 1. Mizoram

X 2. Meghalaya
5 3. Manipur
#< 4. Tripura

Question ID : 65497828354
Status : Answered
Chosen Option : 1

Q.3 Select the number from among the given options that can replace the question mark
(?) in the following series.

19, 23, 32, 48,73, ?
Ans  # 1.109
< 2.108

X 3.1
X 4.103

Question ID : 65497828351
Status : Answered
Chosen Option : 1
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Q.4 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

13 26 39
30427
1716 15

Ans X 1.40
X 2.45
o 3.54
X 4.60

Question ID : 65497828341

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 In a certain code language, ‘ARROW’ is written as ‘FOOSE’ and ‘GERM’ is written as
‘THOR’. How will ‘MOWER’ be written in that language?

Ans X 1.SHORE
X 2. ROSHE
« 3. RSEHO
X 4. HORSE

Question ID : 65497828339
Status : Answered
Chosen Option : 3

Q.6 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

C2_X2CC_XX2_C2_X_C
Ans X 1.C2x2X

o 2. X2CX2

X 3. AXX2C

X 4.XCX2C

Question ID : 65497828350
Status : Answered
Chosen Option : 2
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Q.7 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

X
i LY
&,

{4

w
"-: :S‘
o' ‘e,

X 4.

-
L]

Question ID : 65497828343

Status : Answered

Chosen Option : 3

Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

SKH, PMG, MOF, JQE, ?
Ans # 1.GSD
< 2. SDF
/< 3.GTD
< 4.HSD

Question ID : 65497828353

Status : Answered

Chosen Option : 1

Q.9 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.HIJ
X 2.QRs
X 3.DEF
o 4. NMP

Question ID : 65497828357

Status : Answered

Chosen Option : 4




himachalgovt.com

Q.10 Eight friends, A, B, C, D, E, F, G and H, are sitting in a straight line, all facing the north.
F is sitting between D and G. B is sitting between H and A. E is third to the left of G. G
is sitting at one of the corners. H is third to the left of C. Who is sitting between A and

E?
Ans X 1.B

X 2.H
X 3.D
& 4.C

Question ID : 65497828344
Status : Answered
Chosen Option : 4

Q.11 Two different positions of the same dice marked with the letters/'symbols X. $. Y. &. Z and @ are shown .

Select the letter/symbol that will be on the face opposite to the face having the symbol S.

Ans s &
X2 Z
X3 @
X4 X

Question ID : 65497828347
Status : Answered
Chosen Option : 1

Q.12 In a certain code language, ‘India is my country’ means ‘8573’, 'Sam is my friend'

means ‘8634’, 'My country' means ‘73’ and 'Team India’ means ‘59’. What number is the

code for 'Country'?
Ans X 1.5

2.7
X 3.8
X 4.3

Question ID : 65497828358
Status : Answered
Chosen Option : 2

Q.13 ‘R+S’ means ‘R is the daughter of S’. ‘R-S’ means ‘R is the husband of S’.'‘R x §’

means ‘R is the brother of S’. If ‘T x V + Z’, then which of the following options is true?

Ans X 1.Tis the uncle of Z.
75 2. Tis the father of Z.
o 3. T is the son of Z.
5 4.T is the brother of Z.

Question ID : 65497828363
Status : Answered
Chosen Option : 3




himachalgovt.com

Q.14 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium

Ans X 1.4,532,1
X 2.53,4,1,2
o 3.54,31,2
X 4.4,531,2

Question ID : 65497828349
Status : Answered
Chosen Option : 3

Q.15 Select the option that is related to the third term in the same way as the second term is
related to the first term.

BLOCK : LBPKC :: MARGIN : ?
Ans X 1. OHQHBL

% 2. OHBHQL
X 3. OBHQHL
& 4. OHHQBL

Question ID : 65497828361
Status : Answered
Chosen Option : 4

Q.16 select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

&1

Question ID : 65497828348
Status : Answered
Chosen Option : 1
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Q.17 Select the number from among the given options that can replace the question mark
(?) in the following series.

24, 40, 64, 104, ?, 312
Ans X 1.228

o 2.176
X 3.154
X 4.168

Question ID : 65497828359
Status : Answered
Chosen Option : 2

Q.18 In the following Veun diagram, the circle represents “vegetables’, the triangle represents ‘roots’, the square represents
“hard soil’, and the rectangle represents “summer’, Which of the following letters represents root vegetables that grow in
summer but NOT in hard soil?

Question ID : 65497828356
Status : Answered
Chosen Option : 1

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number.

31:90::43:7
Ans X 1.130

X 2.125

o 3.102

K 4.75

Question ID : 65497828345

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.20 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the

statements.

Statements:
All blues are whites.
Some whites are greys.

Conclusions:
I. All greys are whites.
Il. All greys are blues.

Ans  &# 1. Neither conclusion | nor conclusion Il follows
5 2. Only conclusion | follows
25 3. Only conclusion Il follows

X 4. Both the conclusions follow

Question ID : 65497828340
Status : Answered
Chosen Option : 1

Q.21 When a number is added to its multiple of 5 and its square, the sum of these three
numbers is 91. Find the number.

Ans X 1.9
X 2.1
3.7
X 4.6

Question ID : 65497828342

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.22 In a certain code language, ‘CIRCLE’ is written as ‘DLWAHY’. How will ‘SQUARE’ be
written in that language?

Ans X 1.TTPNKY
X 2. TNZYVY
o 3. TTZYNY
X 4. TNPYVY

Question ID : 65497828362
Status : Answered
Chosen Option : 3

Q.23 In an imaginary mathematical system, symbol '-' stands for addition, symbol '+' stands
for division, symbol 'x' stands for subtraction, and symbol '+ stands for multiplication.
All other rules of mathematics are the same as in the existing system. What is the
value of the following expression?

240x72+8+24-6
Ans 4 1.30

< 2.36

< 3.26

< 4.19

Question ID : 65497828346
Status : Answered
Chosen Option : 1
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Q.24 select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

p
M8A612CALI

Q
Ans X1 N8V CISCVT
X2 TADEDIAZM
X3 NEVICSCVYT
v+ TADESIDAZM

Question ID : 65497828360
Status : Answered
Chosen Option : 4

Q.25 Select the figure from among the given options that can replace the question mark (7) in the following series.
gu 2 E P! P q Z

IR E
—_— 4
Ans
X 1.
X |
X 2.
o 3.
B
‘ B3
X 4.

Question ID : 65497828352
Status : Answered
Chosen Option : 3
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Q.1 Which of the following Articles of the Constitution of India is related to the promotion
of co-operative societies?

Ans X 1.43A
o 2.43B
X 3.31A
X 4.31B

Question ID : 65497828376
Status : Answered
Chosen Option : 2

Q.2 Which of the following nations was India’s top trading partner in the financial year
2019-20?

Ans X 1.China
o 2. The US
#< 3. Mauritius
& 4. Japan

Question ID : 65497828365
Status : Not Answered
Chosen Option : --

Q.3 After the death of Guru Gobind Singh in 1708, the Khalsa revolted against the Mughal
authority under the leadership of

Ans X 1. Guru Angad
#5 2. Guru Amar Das
«# 3. Banda Bahadur
25 4. Guru Nanak Dev

Question ID : 65497828385

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 Who among the following founded the newspaper ‘Sambad Kaumudi’?
Ans X 1.Rash Bihari Bose

¥ 2. Raja Ram Mohan Roy
#< 3. Shishir Kumar Ghosh
75 4. Ishwar Chandra Vidyasagar

Question ID : 65497828366
Status : Not Answered
Chosen Option : --

Q.5 Which of the following set of countries participated in the Malabar Naval Exercise
20207

Ans X 1.India, Japan and the US
75 2. India, Israel and the US
#< 3. India, Australia, Israel and the US
" 4. India, Australia, Japan and the US

Question ID : 65497828375
Status : Not Answered
Chosen Option : --
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Ans

Q.6 Sarayu river is a tributary of which river?

X 1. Pindar
75 2. Bhagirathi
/5 3. Tons

¥ 4. Sharda

Question ID : 65497828364
Status : Not Answered
Chosen Option : --

Ans

these years, it was amended

% 1.100

o 2.103
X 3.109

X 4.106

Q.7 On 26 January 2019, the Constitution of India completed 69 years of its existence. In
times (as on 12 January 2019).

Question ID : 65497828386
Status : Answered
Chosen Option : 2

Ans

o 1.2020-21
X 2.2019-20
X 3.2018-19
X 4.2021-22

Q.8 Which year marks the beginning of phase 2 of the Swachh Bharat Mission (Grameen)?

Question ID : 65497828388
Status : Answered
Chosen Option : 2

Ans

Q.9 Who among the following represents India in archery?

¥ 1. Deepika Kumari
< 2. Soumyaijit Ghosh
75 3. Neeraj Chopra
4. Manika Batra

Question ID : 65497828367
Status : Answered
Chosen Option : 1

Q.10

Ans

represents the high point of an eclectic art, which, in the 7th and 8th

centuries under the Chalukya dynasty, achieved a harmonious blend of architectural

forms from northern and southern India.
2 1. Kochi

" 2. Pattadakal
25 3. Konark
/< 4. Bhimbetka

Question ID : 65497828368
Status : Not Answered
Chosen Option : --
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Q1 is known as viticulture.
Ans X 1. growing vegetables, flowers and fruits

" 2. cultivation of grapes
25 3. breeding of fish

& 4. rearing of silkworms

Question ID : 65497828382
Status : Not Answered
Chosen Option : --

Q.12 Who among the following is best known for his plays 'Yayati' and "Tughlaq'?
Ans X 1. Viju Khote

& 2. Shreeram Lagoo
4" 3. Girish Karnad
5 4. Mohammed Zahur Khayyam

Question ID : 65497828371
Status : Not Answered
Chosen Option : --

Ans X 1. Father of Indian Civil Services
& 2. Father of Indian Space Programme
#< 3. Father of Indian Prehistory
" 4. Father of Indian Software (IT) Industry

Q.13 Fagqir Chand Kohli, who passed away in November 2020, was known as the *

Question ID : 65497828380
Status : Not Answered
Chosen Option : --

Q.14 In a molecule of water, the ratio of the mass of hydrogen to that of oxygen is:
Ans o 1.1:8

Ans 1. EnglishPro
75 2. Beelinguapp
#< 3. Duolingo
X 4. Hello Talk

K2.1:4

K3.1:2

X 4.1:16

Question ID : 65497828370
Status : Marked For Review
Chosen Option : 4
Q.15 Union Minister of Education launched a free mobile app called ,on5
September 2020.

Question ID : 65497828387
Status : Not Answered
Chosen Option : --
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Ans

Q.16 a particles are doubly charged ions of

X 1. lithium
25 2. beryllium
+" 3. helium
& 4. hydrogen

Question ID : 65497828369
Status : Not Answered
Chosen Option : --

Ans

2 1. World Bank

" 2. United Nations

< 3. World Health Organization
75 4. World Trade Organization

Q.17 Which of the following institutions started the 'Team Halo' initiative in November 2020?

Question ID : 65497828377
Status : Not Answered
Chosen Option : --

Ans

¥ 1. Football
. 2. Badminton
X 3. Kabaddi
#< 4. Cricket

Q.18 With which of the following sports would you associate the team ‘Kerala Blasters’?

Question ID : 65497828383
Status : Marked For Review
Chosen Option : 3

Ans

Q.19 Which of the following is the traditional bamboo dance of the Mizos?

< 1. Moyashai
& 2. Udoho
" 3. Cheraw
25 4. Aaluyattu

Question ID : 65497828378
Status : Not Answered
Chosen Option : --

Ans

of Afghanistan was fought in the year:
X 1.1781

X 2.1851
o 3. 1761
X 4.1831

Q.20 The Third Battle of Panipat between the Marathas and Ahmad Shah Durrani , the ruler

Question ID : 65497828374
Status : Not Answered
Chosen Option : --
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Q.21 In November 2020, the Board of Control for Cricket in India (BCCI) announced
as Team India's kit sponsor till 2023.

Ans X 1.Byju's
X 2.Nke
«" 3. MPL Sports

5 4. Oppo

Question ID : 65497828381
Status : Answered
Chosen Option : 3

Q.22 Raja Todar Mal was the Revenue Minister during the reign of which of the following
Mughal emperors?

Ans X 1.Humayun
#< 2. Shah Jahan
25 3. Jahangir
o 4. Akbar

Question ID : 65497828384
Status : Answered
Chosen Option : 4

Q.23 As per calculations done in 2011-2012, the poverty line for a person of rural India got

fixed at per month.
Ans  # 1.3816
X 2.3752
X 3.%1,000
< 4.%687
Question ID : 65497828372
Status : Not Answered
Chosen Option : --
Q.24 Five rivers from Punjab (India) enter the river at Mithankot in Pakistan.

Ans o 1.Indus
#5 2. Yamuna

/< 3. Ganga
& 4. Brahmaputra

Question ID : 65497828379
Status : Answered
Chosen Option : 1

Q.25 is a simple device that is used to either break the electric circuit, or to
complete it.

Ans X 1. Transistor
& 2. Switch
5 3. Capacitor
< 4. Resistor

Question ID : 65497828373
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics
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1 The perimeter of an equilateral triangle is 36v/3 cm. Find its height.

Ans 1. 18 cm
X2 9cm
<3 10 cm
X4 6cm

Question ID : 65497828400
Status : Answered
Chosen Option : 1

Q2 A person crosses a 1600 m long street in 4 min. What is his speed (in km/h)?
Ans X 1. 22

X2 14

X3 20

o4 24

Question ID : 65497828398
Status : Answered
Chosen Option : 4

Q.3 A chair is sold for 720 after giving a discount of 10% on its marked price. The cost price of the chair is T840 1f it is
sold at the marked price. then the profit percentage will be:

Ans X 1. 30%
X2 20%
X3 18%
&4 25%

Question ID : 65497828407
Status : Answered
Chosen Option : 4

4 What is 12% of 4% of 7% of 2 X 108 2
Ans X' 1. 386

X 2. 5383

3. G672

x4 121

Question ID : 65497828403
Status : Answered
Chosen Option : 3
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Q.5 Asolid metallic rectangular block of dimensions 112 cm = 44 cm = 25 cm is melted and recast into a cylinder of radivs

35 cm. The curved surface area (in cm?) of the eylinder is: (Take @ =$ )
Ans X' 1. 7260

X 2. 6600

« 3. 7040

X 4. 6160

Question ID : 65497828413

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q6 Find the value of 45 —3 X (4 of 6+ 12+3 X6 —4X5)+6.

Ans x4 —45
X2 —135
3 —33
x4 =30

Question ID : 65497828408
Status : Answered
Chosen Option : 3

Q.7 By selling 36 m of jute. a shopkesper gains an amount equal to the selling price of 12 m of jute. Find the gain
percentage.

Ans 1. 50%
X2 40%
X3 45%
X 4. 55%

Question ID : 65497828409
Status : Answered
Chosen Option : 1

Q.8 Divide T2.760 in ro two parts such that when these are invested for 2 and 4 years. respectively. at the rate of 5 % per
annum simple interest. the amounts received are equal. What is the second part (in ¥) lnvested?

Ans X' 1. 1,100
X 2. 1,500
3. 1,320
X 4. 1,440

Question ID : 65497828396

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.9 A 725 m long train passes a tunnel 235 m long in 48 seconds. Find the speed of the train.
Ans X 1. 42 km/h

2. 72 kin'h

X 3. 36 kim'h

X 4100 km/h

Question ID : 65497828405
Status : Answered
Chosen Option : 2

Q.10 A barsman scored 124 muns, which included 6 boundaries and 10 sixes. What percentage of his total score did he malke
by running berween the wickets?

Ans

x 1. 282204
31

x 2 24104
31

3 32804
31

3
X4 3509
The

Question ID : 65497828390
Status : Answered
Chosen Option : 3

Q.11 The salaries of Ravi and Sumit are in the ratio 4 - 5. If the salary of each is increased by 6,000 the new ratio becomes
35 : 40, What will be Sumit's increased salary?

Ans X 1. 326,000
X 2. 336,000
v 3 Z16,000
X 4. T1,60.000

Question ID : 65497828399
Status : Answered
Chosen Option : 3

Q.12  Anu is four times as good as Binni in completing a task. Together they finish the same task in 7 hours. In how many
hours will Anu alone complete the task?

Ans X' 1. 22
¥ 2. 35/4
X3 31/4
x4 24

Question ID : 65497828404
Status : Answered
Chosen Option : 2
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Q.13 The number of students in class I and class X is 42 and 45, respectively. The ratio of the number of boys to girls in
classes s IN and X is 9 : S and 8 : 7, respectively. What is the difference between the total number of boys and the total
number of girls in both the classes taken together?

Ans X 1. 1]
X2 12
X3 17
#4 15

Question ID : 65497828411
Status : Answered
Chosen Option : 4

Q.14 P Qand R can complete a work in 10 days, 20 days and 30 days. respectively, working alone. How soon can the work
be completed if P is assisted by Q and R on alternate days?

Ans

1
vl ?E days
X 2. 9 days
X 3. 5 days
X 4. 6% days

Question ID : 65497828410
Status : Not Answered
Chosen Option : --

QA5 4 jpssof ll}zl % gets converted into a profit of 11 2 % when the selling price is increased by T132.60. The cost price
(i T) of the article is:

Ans  X1. 750
X 2. 800
+ 3. 600
X 4 500

Question ID : 65497828391
Status : Answered
Chosen Option : 3

Q.16 The greatest number that will divide 398, 437 and 5425 leaving 7. 12 and 2 as remainders, respectively. is:

Ans 1. ]
X2 15
o3 17
x4 19

Question ID : 65497828393
Status : Answered
Chosen Option : 3
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Q.17 Ifthe average of two numbers is 13 and the square root of their produet is 12. then the difference between the numbers
Is:

Ans 211D
X2 18
X3 8
x4 12

Question ID : 65497828394
Status : Answered
Chosen Option : 1

Q.18 The average of 10 observations is 46. It was realised later that an observation was misread as 42 in place of 142, The

cofrect average is:

LUCHE S
X2 46
X3 58
+ 4 56

Question ID : 65497828401
Status : Answered
Chosen Option : 4

Q.19 The ratio of A's and B's salary is 6 : 7. I B's salary is increased by 5%% . then his total salary becomes T1 47.700. The
salary (in T) of A is:

Ans 1. 1.10.000
« 2. 1,20,000
X 3. 1,40,000
X 4. 1,35,000

Question ID : 65497828395
Status : Answered
Chosen Option : 2

Q.20 The certain sum amounts 1o ¥9,982.50 in 2% years at 12% p.a., interest compounded 10-monthly. The sum (in %) is:
Ans X 1. 8,500

X 2. 7,800

X 3. 8,000

4 7.500

Question ID : 65497828412

. Not Attempted and
" Marked For Review

Chosen Option : --

Status
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Q21 A pine-digit number 89563x87y is divisible by 72. What is the value of \/7x — 3y ?
Ans  X'1.§

X2 5
¥3 6
X4 4

Question ID : 65497828389
Status : Answered
Chosen Option : 3

Q22 Thevalueof3X 74+5— 6+3— 9+45+5X%X 4— 45 is:
Ans ?(1_9

26

X3 7

X4 36

Question ID : 65497828397
Status : Answered
Chosen Option : 2

Q.23 ATV was available for ¥14.500. The price came down o T11.890 during the Diwali sale. What is the percentage
discount?

Ans X 1. 19.56%
X2 19%
+ 3. 18%
X 4 17.6%

Question ID : 65497828402
Status : Answered
Chosen Option : 3

Q.24 A shopkeeper sold an article at a gain of 20%. Had he bonght it for 20 less than the original cost and sold it for ¥10
less, he would have gained 25%. Then the Cost Price of the article is:

Ans 1. F50
K 2. T40
X 3. T60
X 4. T45

Question ID : 65497828406
Status : Answered
Chosen Option : 1
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Q.25 A certain sum amounts to T13200 after 4 years and to 16400 after & vears ar the same rate per cent p.a. at simple

interest. The simple interest (in T) on the same sum at 10% p.a. for 3& vears will be:

Ans X 1. 4000
+ 2. 3200
X 3. 2500
X 4. 3500

Question ID : 65497828392
Status : Answered
Chosen Option : 2

Section : Part D English

Q.1 Select the most appropriate synonym of the given word.
Visible
Ans X 1. Secret
& 2. Apparent

& 3. Vague
< 4. Hidden

Question ID : 65497828415
Status : Marked For Review
Chosen Option : 2

Q.2 Select the most appropriate option that can substitute the underlined word in the
given sentence.

Microwave ovens heat food quickly, anxiously and safely, but do not brown or bake
food in the way that conventional ovens do.

Ans X 1.angrily
" 2. efficiently
& 3. beautifully
25 4. accidently

Question ID : 65497828416
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to fill in the blank.

A__ mind rarely meets a dead end; it continues the search for the answers.
Ans X 1. peculiar
< 2. weird
" 3. curious
< 4. strange

Question ID : 65497828419
Status : Answered
Chosen Option : 3
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Q.4 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

She left / hers umbrella / at the office.
Ans X 1.No error

4" 2. hers umbrella
< 3. She left
& 4. at the office

Question ID : 65497828414
Status : Answered
Chosen Option : 2

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A person who knows everything
Ans X 1.Naive

" 2. Omniscient
< 3. Intelligent
< 4. Omnipresent

Question ID : 65497828420
Status : Answered
Chosen Option : 3

Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mohan told to / Sagar that he / was looking / very pale.
Ans X 1.very pale
#< 2. Sagar that he
4 3. Mohan told to

& 4. was looking

Question ID : 65497828422
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I’m sure he will grab the chance to earn some extra money.

Ans o 1. No substitution required
X 2. of earns
& 3.to earned

X 4.to earns

Question ID : 65497828429
Status : Answered
Chosen Option : 1
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Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

One who examines a company'’s financial records
Ans X 1. Conductor

X 2. Author
«" 3. Auditor

#< 4. Instructor

Question ID : 65497828424
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option to fill in the blank.
The doctor _____ her to stop eating fried food.

Ans  # 1. advised

X 2. considered

/5 3. arranged

< 4. expressed

Question ID : 65497828421
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

You need to get the cholesterol from out of your system.
Ans  # 1. out of your system
#< 2. No substitution required
#< 3. out your system

& 4. from out off your system

Question ID : 65497828430
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.

A dialogue is a between two or more people.
Ans ¥ 1. conversation
25 2. commission
#< 3. convertible

X 4. conversion

Question ID : 65497828427
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate meaning of the given idiom.

Play for time
Ans X 1. To do something in the stipulated time

" 2. To make excuses or do things to gain time
#< 3. To play something for the sake of old times

2 4. To play music in the time provided

Question ID : 65497828428

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.13 Select the INCORRECTLY spelt word.
Ans 4 1. Aniversary

X 2. Felicitate
/5 3. Congratulations
< 4. Response

Question ID : 65497828418
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate meaning of the given idiom.

To breathe one’s last
Ans X 1. To take a major decision
#5 2. To give final verdict
25 3. To make a plot
«" 4. To die

Question ID : 65497828417
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.
Ans X 1. Delivery

/< 2. Stationary
«# 3. Dictionery
/5 4. Voluntary

Question ID : 65497828425
Status : Answered
Chosen Option : 3
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Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Neither the manager / nor the employees was / aware of the / shortage of raw
materials.

Ans X 1. Neither the manager
#% 2. shortage of raw materials
4 3. nor the employees was

& 4. aware of the

Question ID : 65497828431
Status : Answered
Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Anything that leads to death
Ans X 1.Scary

& 2. Serious
«” 3. Fatal
75 4. Ominous

Question ID : 65497828433
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate ANTONYM of the given word.

Vital
Ans X 1. Critical
o 2. Trivial
& 3. Manual
< 4. Crucial

Question ID : 65497828423
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate ANTONYM of the given word.
Precarious
Ans 1. Safe
/< 2. Dangerous
& 3. Uncertain
X 4. Perilous

Question ID : 65497828426
Status : Not Answered
Chosen Option : --

https://himachalgovt.com/previous-year-question-papers/
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Q.20 Select the most appropriate SYNONYM of the given word.

Threat
Ans X 1. Suggestion
25 2. Proof
75 3. Attention
o 4. Risk
Question ID : 65497828432
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is
seen reddened, as well as the light coming directly from the sun.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.is
¥ 2. appears

/5 3. has appeared
#< 4. appeared

Question ID : 65497828435
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is
seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans

< 1. has

/5 2. was

25 3. will be
¥ 4. has been

Question ID : 65497828436
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.if

< 2. but

o 3. 0r
< 4.and

Question ID : 65497828437
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.for

o 2.due to
25 3. because
X 4. as

Question ID : 65497828438
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over

the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is
seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1. across

25 2. through
/< 3. along
o 4. around

Question ID : 65497828439
Status : Answered
Chosen Option : 3

Section : Part D Hindi
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Q1 o =M WA F T 999 Iuge Mg T 99 B
GiEl ¥ @l § gafere BTy sgand 81
Ans X 1. eRdl
X 2. HaAr
o 3. YT
X 4. 3TN

Question ID : 65497828446
Status : Not Answered
Chosen Option : --

Q.2 THYYH, TP eg IR -3 UpR 4 for@m 1ar 8, Sorad & $aa T S Jgi a1
foram Tar 81 W) A= ard VMg BT A= B

Ans X 1. 3FIYBR
X 2. AR
o 3. SFAHR
X 4. 3AfiER

Question ID : 65497828444
Status : Not Answered
Chosen Option : --

Q.3 T T ar B ¥@1ied WS B UfiTid 31 & e vew Sy e &1 99 S
tr%sﬁuﬁlwﬁaﬁ PR B ATIIHAT TEY B, A ey Fpeft agara #t srazawar 18 @
Ea ek

T8 T F) B 1 I8 FH F1E T HR Jobal TP a8 ARG g1
Ans X 1. U T B FH DI Hgd
X 2. B8 T B g1 BT fewd
X 3. 5 9T B srazgesar e B
o 4. T T &I T &1 ey

Question ID : 65497828447
Status : Not Answered
Chosen Option : --

Q.4 g T g o1 e g1

&d
Ans 1 HW

X 2.3%d
X 3.58
X 497

Question ID : 65497828448
Status : Not Answered
Chosen Option : --
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Q5 3 aren ¥ YEifea @s & nfawnfia 3 & e 9e@ sugw Rea sraga a3
Ife 3R vfawnfia $31 F1 sawgsar 781 2, A fAeeu fadt 9gae 9t sawmasar T8 &

BT T DY
fraroht 2} o o U o ol
Ans X | @
X273
3. 73 Sead @ saxamdr TE 2
X 4. W F fag

Question ID : 65497828450
Status : Not Answered
Chosen Option : —
Q.6 f3g g Weg & FHETH Weg BT TTT DI
PHA
Ans X 1 3t
X 2 9
3. R
X 4. 3O
Question ID : 65497828452
Status : Not Answered
Chosen Option : —
Q7 T A1 T 31 - YETTPa Weg Bt AR T@EE-
Ans 1 RIS BRU
X 2. 99 & BRU
X 3. fa=mu & SR
X 4. IR $ HRU
Question ID : 65497828456
Status : Not Answered
Chosen Option : —
Q8 YN, TP Wg IR - UPR & forar 11 ¢, Pl A Faa @ s adt a1
Torar T ¥1 & o 9T WS BT T BN
Ans X | HEEH
2 HideH
X 3. ArdeH
X 4 Higlea
Question ID : 65497828445
Status : Not Answered

Chosen Option :
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Q9 Rea A 1 WA F forg wad Sugas fawes a1 5a= w31
T R RFFigdt dom

Ans 1 Rl
X 2.9/
X 3. el
X 4. SR
Question ID : 65497828459
Status : Not Answered
Chosen Option : —
Q.10 Tg 914 Wil 9 WTYRVT & Taat 3T T & 39 I F g ve arde weg difng)
Ans X 1. QUAGH
2. fbaedt
X 3. fpada
X 4. DUG-Bfead
Question ID : 65497828440
Status : Not Answered
Chosen Option - —
Q.11 3T 1Y 2z & FAFT Mg T TG BYI
ag
Ans g1 3l
X 2.dsrl
X 3. 3
X 4.Tgm
Question ID : 65497828443
Status : Not Answered
Chosen Option : —
Q.12 = & A T e & e ue wreg 8-
Ans X 1 fa&rg
X 2.4Hdig
X 3.dq
o 4. 3UdiG
Question ID : 65497828455
Status : Not Answered
Chosen Option : —
Q.13 3if@ T GeTay &1 aet o -
Ans X 1 g3 G 3l
X 2 @A g
X 3T TS
o 4. FUDT 3F
Question ID : 65497828454
Status : Not Answered

Chosen Option :
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Q.14 ﬁaﬁ?awﬁ,ﬁqwmﬁm}ﬁﬁ,wﬁmmmﬁ,ﬁmmwm
Fear gl

FUS I
Ans X 1 ¥ 7gd aKd
X 2. $uu Afad
X 3. 3@Hd I
4. Had G| & oY Juey

Question ID : 65497828449
Status : Not Answered
Chosen Option : —

Q.15 RN BT TREU T HI A1 & R1¢ 0 e Rifae-
Ans X 1 IREF

X 2. wifad

X 3 fommg

4 THiED

Question ID : 65497828458
Status : Not Answered
Chosen Option : —

Q.16 3w v are & Yanfed @ o1 ufawnfia o3 & e 9ad Sugea Reaw sraga a1
nﬁgﬂuﬁmﬁaﬁ T B AIRAHAT el &, °f Aoy et agae 9t smaxgsar @ ¥
Eab ek adl

& U] ¥ T IR E
Ans X 1 ol 9ecid @ HMaadHdl el o
X 2.7 U
3.1 Aud
X 4.7 3l

Question ID : 65497828453
Status : Not Answered
Chosen Option : —

Q17 ¢ o ,ar
@ﬁ;r'gg%fraaumm FRIR T MWL R TE T s R A D

RN UgTd €1 98 B fm
Ans X 1 BH @R el
X 2. 9B IR TR
X 3 R Ugdd g
& 4.0

Question ID : 65497828442
Status : Not Answered
Chosen Option : —
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Q18 %ﬁ;lmamwa?mmﬁmﬁézﬁélﬂﬁﬁéaﬁﬂﬁ%ﬁﬁaﬁ“ﬁ%

TR 7 (1) R sraru® (2) B gard) (3) TS 3R T *14)
Ans 13
X 24
x 3.2
X 4.1

Question ID : 65497828451
Status : Not Answered
Chosen Option : —

Q.19 e RIF WA ¥ 7 999 Iuged v &1 999 S|
AT TR E
Ans X 1.¢H
& 294
X 3.9
X 4.9

Question ID : 65497828441
Status : Not Answered
Chosen Option : —-

Q.20 FgHE - YaEidd Weg o1 el fadm aarse-
Ans o 1.guid

X 2T

X 3. @Y

X 4.8

Question ID : 65497828457
Status : Not Answered
Chosen Option : —

Comprehension:

TR B UgaR e T Ut & SR e

TP 1Y | fgie U Aol ¥ 3 eIRd SR 3HGYdd HoiH ded A1 Ud o Heaiaial RR )
del, TSI & gl Y Fue & fag T faced urelt ) faceh & foe gqu & sevd Ul - o T wdie
B AT T I Hol-FHTd & fod Afgal B SHIaRaddl Us| Afgar 3 ¢ H ct | IRAR 411
Td FIR AD DA IR BT A& el Y Dl 9l 111 Wifad Sawiensit &1 sie-seird 3a-1
¢ 741 fob R BT et TR BRA & fole & it 1 gl U1l WY &Ta I H @ St ot
U BT TS &1 Y g Sl & | S Bl dIcdd 98 @ fob 8 HR agd @i SR F &1 aifgul

SubQuestion No : 21
Q.21 |1y 3 Frafe XS Fa1 4Tl vaa = 31 g i)
Ans 1 e dRd

X 2. 9=l &I UGN
X 3 Tl e
X 4. Tdl P

Question ID : 65497828461
Status : Not Answered
Chosen Option : —
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Comprehension:

TR Bl Ugax U T Ul & IR fafae-

T U1y ¥ Fyge W 7o 9 fé OIRd SR SiFeYdd HolH dd A1 U fed Aeardien RR )
del, FUST & gl ¥ Aued & faw ue faced urelt| facel & o gy &1 oexd Ul - dl T Wil
PR AT TR Pl GIS-HTT & g Afger & Saxadhdl Ust| Afear I d R ot | IRaR €411
Td IR did DIV B BT A& el U Dl 9l 11| Wifad Samiensit 1 sia-soird 31
¢ 1 o URAT BT 7163 U1 B b fow $& it 1 Saa1 31| IR &wan St H @e S o
Ul BT THYE g1 Y TG Sl 8 | e Bl Il 98 @ fob 81 AR agd @i SR & 1 aifgu|
SubQuestion No : 22

Q.22 axgedar & I W 34 Wes fafau)

Ans X 1. 3[@aHG
2.
X 3.aReH

X 4. 3@

Question ID : 65497828462
Status : Not Answered
Chosen Option : —

Comprehension:

TR B Uga U T Ul & IR fafae-

T 1y ¥ fyge ¥ 7o ¥ e R SR SiFeydd HolH dd A1 U fad Aeaidien RR )
¢, S & gl ¥ Fues & fae uas faceh ureht | faced & fore gu &t oeva U - df T wldie
PR AT TR DI GIo-GHT & o Afgel & SHaxadhdl Ust | Afedl U S R | IRAR &1
Td AR did DIV A BT A& el Y Dl 9l 11| Wifdd Sawiensit 1 sa-seird 3a-1
6 1 o AT BT 7168 T B b foT $& it ) S7a1 31| IR &1 St H e S o
Ul BT SIS g1 AN 3§ IIdT 5| He- &1 dldad I8 & o g8 AR d&d & 3R &4 &1 =feul

SubQuestion No : 23
Q.23 AEdErPIAI YEIPd Ueg H1 Ifd ordf i@
Ans X' 1. ¢dg
X 2. GG AGH
3. 39 DI U BA Bt T

X 4. qdH gl

Question ID : 65497828463
Status : Not Answered
Chosen Option : —

Comprehension:

TR B Uga U T Ul & IR e

TP 1Y 4| fge U #ol ¥ e eIRd SR 3HeYdd Yo dd 31 U@ o Feaianel RR )R
¢, S & gel ¥ FAued & faw ves faceh ureht faceht & for gy &t o U - df T wlie
PR AT TR Dl HS-FHT & fod Al & SHaxadhal Us| Afgar 9 et H <t | URaR &1
Td IR did SV A BT A& Bl Y Dl 9l 11| Wifdd Sawiensit 1 sid-seird 3a-T
¢ 741 fob IRAT BT e T B & oY & it g1 Sl UT1 WY &Ta S H G St o1
Ul BT TGS & Y T Sl 3| e Bl Iy 98 & fob 8 HR agd @t SR & 1 arfgul
SubQuestion No : 24

Q.24 Y- YEIfPd W o7 fawy Ta3el

Ans X 1.G¥
& 2.
X 3.

X 4. e

Question ID : 65497828464
Status : Not Answered
Chosen Option : -
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Comprehension:

TR Bl Ugax U T Ul & IR fafae-

T U1y ¥ Fyge W 7o 9 fé OIRd SR SiFeYdd HolH dd A1 U fed Aeardien RR )
del, FUST & gl ¥ Aued & faw ue faced urelt| facel & o gy &1 oexd Ul - dl T Wil
PR AT TR Pl GIS-HTT & g Afger & Saxadhdl Ust| Afear I d R ot | IRaR €411
Td IR did DIV B BT A& el U Dl 9l 11| Wifad Samiensit 1 sia-soird 31
¢ 1 o URAT BT 7163 U1 B b fow $& it 1 Saa1 31| IR &wan St H @e S o
Ul BT THYE g1 Y TG Sl 8 | e Bl Il 98 @ fob 81 AR agd @i SR & 1 aifgu|

SubQuestion No : 25
Q.25 Ut F ge1 & Fuea & forg @y 3 = fFmar?
Ans 1 facil Urclt
X 2. %a1 AR Jgl 3l AR &
X 3. Fd @I Ul
X 4.9 i =81 foar

Question ID : 65497828465
Status : Not Answered
Chosen Option : —




